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B.E/B.Tech. DEGREE EXAMINATION, APRIL/MAY 2011.
Seventh Semester
Computer Science and Engineering

CS 1009 — T'CP/IP DESIGN AND IMPLEMENTATION

(Regulation 2004)
Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A — (10 x 2 = 20 marks)
1.  Distinguish: host and node.
2. What is address resolution?
3. How is TTL calculated? ‘
4.  State two problems encountered in connection establishment.
5.  Why is fragmentation said to improve network traffic?
8.  Define: Multi-cast Routing.
7. Define: ditter.
8.  Distinguish: Static Routing and Dynamic Routing.
9.  Define: Self-clocking.

10. What is the use of pull function?
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PART B — (5 x 16 = 80 marks)
Distinguish: subnetting and supernetting. Illustrate with examples.

(10)

Explain Ipv6 packet header format. State how it ia different from

IP. (]
Or

Explain ICMP messages with examples, 12)

State the reamson why ICMP messages require two levels of

encapsulation before delivery. @

Explain how TCP makes the connection establishment. (10)

State the entries in TCP header and explain. (]
Or

Distinguish the activities of persistent timer and keepalive timu(aéj

What is TCP slow start mechanism? Explain in detail. 10)

An IP router must perform a computation that takes time
proportional to the length of the datagram header each time it

processes a datagram. Explain. 6)
What is optimized edge routing? Explain its significance as a
dynamic routing policy. 10)
Or
Discuss the benefits of IGMP snooping. ()
Explain denial of service attack in IGMP. ®
A lost TCP acknowledgement does not necessarily force a
retransmission. Explain why. Support with neat examples. [¢:)]
Describe the abnormal circumstances that can leave one end of a
connection in state FIN WAIT-2 indefinitely. ®
Or

TCP requires the sender and receiver to implement heuristics that avoid
the silly window syndrome. Explain how, by illustrations. (16)

Expiajn Jaconson-Karel's congestion avoidance algorithm in detail. (16)

Or

Explain adaptive retransmission in TCP. (16)




